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1. oo fEEEe W% $edn! A Sferedr / Teg fuan -

1x6=6
following :
(@ TR Tocel FTEE vl C=a+bY
FRAFIOTS b3 T (27

In the equation C=a+bY, which
represents the Keynesian consumption
function, the value of b is

() O<b<l1
() O>b<1
(i) O=b<1
(iv) b=1
P25/1522 ({ Turn Over )

Choose the correct answer / Answer the '



(2)

(b) T MPC = 0-2 =z, cocz RfAcmst 3T93 ==
2’3

If MPC =02, then the investment
multiplier is equal to

i 1-25
i) 1-5
(iii) 2-5
(iv) 2-25
() ‘Macro’ *Cbl 2N HIASS &FA IS
FfRfRe 2

Who first used the word ‘macro’ in
Economics?

(i) @3
Keynes
(ii) e
Marshall
(iti) o= fFo
Ragnar Frisch

(iv) S°RF g&1e =F

None of them

(d) % veies «B1 TwrzRd 7 |

Give one example of stock variable.
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(3)

() i smea o > 7wm T =, cow@
If factor cost > market price, then
(1) AT I > G
indirect taxes > subsidies
(if) QAT I = S
indirect taxes = subsidies
(iii) “ICATH Iq < S
indirect taxes < subsidies

(iv) ST GOS8 =W

None of the above

() ‘GEEE-FER’ 4RO IR 9= SR ?
Who contributed the concept of |
‘laissez-faire’? J

(i) FfecFs FLAfSWI

Classical economist

(i) -FiRcFe LR
Neo-classical economist
(if) (FECARIE FLAIfSma
Keynesian economist ?
(iv) S7<F Ghre 3%
None of the above
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2. Wﬁmmquemsqcﬁma’ﬂ:

Write short notes on any W

(a)

(c)

(&)

o of the following :

fdsre weAfed TTRPTR

Objectives of macroeconomics

(b) IZTHN SR S

Significance of sustainable accounting

Rffce gae 4=
The concept of investment multiplier

@ SRR AR R IR

Transaction demand for money

S 991 FIRIFER AT 1 | 2+10=12

What is aggregate supply? Discuss the
factors causing shift in the aggregate
supply curve.

5211/ Or

(b) LT T k@ FI AL IGEIREISIS]
DT B9 | (ST 2T SE AT AITOMN
WS STFACo! 01 1 | 2+5+5=12
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(d)
3. (@) BT @eW &2 AHES @M @RE SR
i
|
|
|

Define saving function. Discuss the
determinants of saving. Explain the
relationship between propensity to
consume and propensity to save.

( Continued )
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(a)

(b)

(@)

(b)

(5)

'3 T5H Rt s Seomm @ e A
Efore w1 aman 4 | 12

Explain the classical theory of
determination of output and

employment with the help of Say’s law of
markets.

{1/ Or

S590 59 TINWR REcy I 91 | T FCEAR
@ forE «Afes sRfka o2 Raw Imm
390 | 6+6=12

Describe the great depression of the
1930’s. Explain how it established
Keynesian thoughts.

T@R Q@6 T 6 2 LS qyT© J@R QA=
FrETe @@ g e 911 2+10=12
What is supply of money? Explain the

role of the central bank in controlling the
money supply of an economy.

®2_T / Or

FTR SREANS ©g 92 FR Yo ST
RS R afemmesr = < | 12

Explain the process of determination of
the equilibrium rate of interest using the
Keynesian liquidity preference theory.
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6. (a) ST frAAR vew fd 2%6=12
Define the following :

(i) MPC
(i) MPS

(i) APS

(iv) &Fo =y

(b)

P25/1522

Real income

(U) Tp TR TR FLITBF

GDP deflator

(vi) Rt Toame =m

NFIA

5241/ Or

() SLAfee @ AR 2519t GDP

(P wF@ TeoqrR)d THARFOR TR
Sl 6

Evaluate the limitations of GDPas a
measure of economic activity.

) s fRERRs W= o 2%x3=6

I =%, Tfees =3, = 923 ST
Define the following :

National Income, Personal Income,
Net National Product
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( RO T NI-%1A A7 wfefie 30 FH1)
( Additiona] 20 marks for 2023 Batch )
7. (a) mw@awﬂma@uwmm
R o= e e 40 10

Explain, with the help of a diagram, the
| ) circular flow of national income in a
two-sector economy.

Y5<1/ Or
(b) ¥R vifwR G Sowen =y =64 | 10

Explain three motives of demand for
money.

8. (a) MW%@’W’i@TWWW

10

¥<T / Or

(b) @W%QW%?ESWRW‘NW
T TSR A ¥4 2+8=10

What is GNP? Explain the

methods of
calculating GNP.
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